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N.B.1)All questions are compulsory.
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B)State whether the following statements are L L )
1 is tinuous process.

.Management is a con pro Scientific Management

2 Henry Fayol is known as theFather of h
3 Money is the only motivating factor as per modern L b
4.Policies serve as guidelines for decision making.

5.Decision making is a mental process.

6 Netwark resource include both hardware and software:
7.Virtual organisation does not have physical existence.
8.Departmentation is by products in a mall.

9.Delegation and decentralisation are synonymous. - e

T T T— e it

10.Motivation is a one-time activity. -

11.Barriers to communication are divided into five groups-
12.Budgetary control is qualitative in nature.

| Q2Answer any two of the following:

‘a)Define management. Explain its functions.

: e b)Describe the Hawthorne experiments conducted by Elton Mayo.
| alier b G)Bxplmn the significance of Indian ethos to management.

il e - Q3Answer any two of the following: (15)
- a)Define planning. Explain the steps.

. b)Define MIS. Explain its characteristics.
- - ¢)Define Decision making. Explain the techniques of decision making,
f AR i '~-15Q4.Answergw of the following: (15)

| a)What is Matrix organisation? Explain its features.

b)Distinguish between Tall and Flat organisation structures,
¢)Distinguish between Centralisation and decentralisation.

-~ — ——QS.Answerany two of the following: (15)
hou. a)What is Motivation? Explain its features.

~ b)Discuss the traits that a good leader should possess,
 ¢)Briefly explain the techniques of controlling.

 iii)Departmentation . iv)Barriers to delegation of Authority.
~ v)Importance of communication. vi)Leadership styles,




Duration: 2 % hrs.
Marks :75
NOTE: 1) All questions are compulsory.

2) All questions carry equal marks. F : C/_(?:'Ei‘q |

Q.1 A. Explain the following concepts: (Any Five)
1. Sign Language
2. Formal Communication
3. Blind Beliefs and Prejudices
4, Recovery Phase of Disaster Management
5. Elderly Person
6. Myth
7. Prevention of Disasters
8. Political Rights
DR‘
B. Write a detailed note on the Foundation Course (Semester Ill) project 15
submim_d by you.

Q2 A-. Dmibe functions and powers of the National Commission for 15
pduled Tribes.

OR
n forms of violations of human rights of Women. 15
Q. n the Concept and Characteristics of Disasters. 15
B OR
- B, What is mitigation phase of disasters? Explain the relief and 15
Rehabilitation measures of mitigation.

Q.4 A. Explain science as empirical, practical, theoretical and validated 15

Knowledge.
OR

cuss the positive and negative impact of technology on human 15

Comment on the various styles of effective leadership. 15
: OR
iolain the advantages and disadvantages of oral communication. 15
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Marks: 100 Times; 3 Hrs.
N.B. 1. All questions are compulsory
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(A)Mtﬂ‘dhwius&lmm are True or False: (ANY TEN) 10y
account is opened. F Q

On Amalgamation of Firm, profit and loss adjustment
‘due but not paid appear as a liability in balance sheet. ZOM
Partner’s current account must alyays show a credit balance.

MmmmimumliminMMnumberofpnmh a firm.
If an asset is given in full settlement of a lhﬁﬂ!ymunlpmﬂulmmmw is passed in the

books of accounts
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At the time of dissolution, loan from partner be transferred to realization accounts.
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ratio is calculatedon_____-
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(d) (a) and (b) above
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 capial will be pai 1 the pariners i providedfointh agrecment but el o
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d to security premium 3 3 {d) none of the above
ities not taken over by the new firm at the time of amalgamation will be transf
{b) profit and loss adjustment
(d) none of the above A N



:.:: The following Trial Balance of firm as on 31* December, 2018:

s _'3_1__.__..:[‘::"‘“ miid
Drawing Capital
Patcl 15000 - A
Padme | 7s0| - B
- Varsha 1,500 - C (including goodwill)
Furniture 10,500 | Sales
Purchases 1,10,000 | Creditors
Stock 25,000
General Expanses 5,200
Salary 12,000
Rem & Rates 5,900
Debtors 31,000 ,
IM 10,900 3!
| 134,500 |
Adjustments:

I Patel & Padme were partivers sharing profits and losses equally |
1. M/s Varsha was admitied 1o partnership on 1" July, 2018 A |
3. On 31" December, 2018 stock was valued at Rs. 23,500 5 |
4. Rent & Taxes paid in advance Rs. 900 |
5. General Expenses were outstanding Rs. 800

6. Charge depreciation on Furniture @ 10% pa o
7. Share of Goodwill of new partner was valued at Rs. 1,000 on 1* July, 2018 and yet to be ad

You are required to prepare Trading, Profit and Loss Account for the year ended on 31* De
2018 and Balance Sheet as on that dote,

. m ™ L !
Q2. (B) The following is the Trial Balance of a firm a Iuil'wml
rﬂ;lﬂt Hy b | Rs.
| Purchases ! ‘ﬁmm
Return Inward = Chandrayaan
Stock drawing Iz Suryaan
Chandrayan's Drawing o - Mangalysan
Suryaaan’s Drawing 12,000 | Sales
Mangalyaan's Drawing 12,000 . Return outward
Salary 27,000 | R.D.D. 3
Office expenses 16,500 | Bank Loan
Bad debis 2,100 | Creditors
Carriage inward 4,500 | Bills payable
Cu'nlge outward 4 ﬁ'rm
Debtors 1,00,000
Bills receivable 3250
Bank balance 8,000
Cash balance 2,500
[nvestment i 25,000
Machinery 36,000
| 500,000

On 1* July 2018 Chandrayaan retired and the following were agreed upon:

1. Goodwill of Rs. 90,000 was brought into the books of accounts

2 Furniture worth Rs. 20,000 was purchased on 31.3.2018 but the invoice was not recor

1 Balunce in Chandrayaan's Account after making all adjustments was to be transferred
accounts carrying interest @16%.

4. Closing stock was valued at RS. 42,000

£ mmmhiwhy 10 %, premises by 5 % and furniture by 5 %.

6. Provide interest on capital at 10 %,

R m-ﬂh«nﬁtmﬂl&uumm for the year ended 31.12.208 and a I




Q3. (A)AB & Co. and €D & Co. amalgamated with effect from 1-4-2018. “Their balance sheet a3 on 31-

3-2018 was as under: (20)
Liabilities AB & Co. | CD & Co, | Assets AB & Co. | CD & Ca,
| Rs Rs Rs . Rs
A’s Capitnl 1,00,000 - | Land & Building 2,80,000 -
B’s Capital 2,00,000 - | Plant & Machinery . B,00,000
C's Capital - 2,00,000 | Stock 3,00,00¢ 400,000
D's Capital - 3,00,000 | Debiors 2,00,004 4,00,000
General Reserves 1,040,000 2,00,000 | Cash/ Bank Balance 1,20,000 1,00,000
Creditors 7.50,000 | 13,40,000 | Investment 3,00,000 | 4,00,000
livestment Fluctuation
Reserves 50,000 60,000
12,00,000 | 21,00,000 = 12,00,000 | 21,00,
Both the firm amalgamated subject to the following lerms:
1) All the assets and all the Liabilities of both the firms shall be taken over by the new firms.
2) Land & Building shall be appreciated by 20%
3) Plant & Machinery shall be deprecisted by 10%
4) Stock of AB & Co. shall be increased by Rs, 50,000

! 5) Stock of CD & Co. shall be taken at Rs, 4, 50,000,
] 6) Debtors of AB & Co, shall be decreased byRs. 10,000
7) Debtors of CD & Co. shall be taken at Rs. 3,80,000
1 £) Goodwill of AB & Co. shall be valued at Rs. 1,00,000
9) Goodwill of CD & Co. shall be taken ot Rs. 2,00,000
10) Investment of AB & Co. shall be 1aken over at Rs. 2, 80,000
11) Investment of CD & Co. shall be taken over at Rs. 3, 60,000
You required prepare:
Statement showing calculation of purchase consideration.
.‘ Realization A/c and Partaer's Capital A/c in the books of AB & Co.

Realization A/c and partner’s Capital A/e in the books of CD & Co.

1 OR
| Qa3.(B) following is the balance sheet of two firm as at 31% March, 2018: 20)
Liabilities Prem & | Raj & | Assets Prem & Co, | Raj &
Co. (Rs) | Co(Rs.} (Rs) Co. (Rs.
Capital: Premises - 5,000
Prem 11,500 - | Computer 10,000 -
Anil 11,500 - | Fumniture 5,000 7,000
Raj c 18,000 | Inventory 9,000 8,000
Shyam - 12,000 | Debtors 6,000 14,000
General Reserves - 3,000
Creditors 5,000 4,000 | Bank 2,000 4,000
Bills Payable 5,000 3,000 | Cash 1,000 2,000
33,0001 40,000 33,000 40,000

It was mutually agreed to amalgamate the business from 1% April, 2018,
Term of amalgamation was as follows:
{. Premises was valued a1 Rs. 10,000 and computer ot Rs. 12,000
2, anin.wwumlmkcnombynewﬁlm.
3. A reserve of 5% is to be crcated on debtors.
4. Gwdwtllwnswluad::Mfst&Co.ulﬁ.ﬂWmdlhulnl’hﬁbhj.&ﬂu.ulh. 15,000,
: IhumﬁmllnmmdnmuAMmdthﬂﬂiuﬂoﬂﬁnummﬂwwmm
: _i.ﬁbonhnruldﬂmsmdtheBﬂmShmofmﬁmWnPumﬂqiﬁcmmﬂmm




c) Developing %
ii) Which of the fotlwrlng '
economy? .

a) GDP at constant price:

b) GDP at current price

¢) NDP at current price

iii) According to which taw
a) Keynes

- b)say's
Y cl Plunu g Amanl




c) Relatively inelastic
vil The qua:tlt\f of money supply is determined bY
a) Demand and supply of money
b) Money market
¢) Monetary authori ¢

:Ii] Whlchr:f the fullt:wmg will cause the LM curve to shiltie,
right?
a) Increase in money supply
b) Decrease in money supply
c) An increase in the rate of interest
viii) Phillips curve brings out trade off between il
a) Wages and employment 1
b) Inflation and unemployment
c) Inflation and value of money
ix) The average number of times a unit
making payments for final goods and services is knownas
a) Monetary velocity ' t‘
b) Income velocity A
¢) Growth velocity
x) Demand for speculative motive
a) Active cash balance

~ b) Idle cash balance ot S

c) Both active and idle cash balance

of money is used for

is referred to as dema,né‘

ar any two of the following: gl
i the help of a diagram circular flow of national income in four

tion function.
is the meaning of investment? Explain the factors which determinn i

~¢) Discuss the concept of multiplier and bring out the various leakages.

Q4) Answer any two of the following: 120)
a) Examine the short run & Long run Phillips curve, P
b) What are the causes of stagflation.

¢) Explain the derivation of 1S & LM curve.

Q5) Answer any two of the following: i
a) Explain the monetary measures of controlling inflation. @9
' Discusa the Fisher's Equation of Exchange,

[ e
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(TIME: THREE HOURSE) ( MARKS: 100)
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NB:
1. All questions are compulsory subject to internal choice.

2: All questions carry equal marks L Aw ,2 0] (]

3. Figures to the right indicate maximum marks

Q.1.  Answer any TWO of the following:-

a) Distinguish between: (10)
|. Agreement and Contract.
2. Void Agreement and Voidable Agreement.
b) What are the types of offer o proposal? State the essentials of valid offer (10)
¢) What is consideration? Explain the exceptions (0 the rule * No consideration no contract’.
(10)
d) What are the effects of an agreements i respect of minor and persons disqualified by law?
(10)
Q2. Answerany TWO of the following:-
) What is Misrepresentation? Distinguish between Fraud and Misrepresentation. (10)
b) What are the agreements which are expressly declared void under Indian Contract Act?(10)
(10)

and legal issues in the formation of E- Contract.

¢) Discuss the E-Contracts
under which a contract is discharged by operation of law? (10)

d) What are the circumstances

b Q3. Answerany TWO of the following:-

) Describe the contract of Guarantee? Explain the types of guarantee. (10)

~ b) Distinguish between Indemnity and Guarantee and explain the modes of discharge of
~ surety. (10)
¢) Write a note on following:- : (10)
1. Bailment
v 2. Pledge
modes of creation and termination of agency. (10)

~ d) Describe the various
Answer any TWO of the following:-

ain the essentials of contract of sale and state the classification of goods . (10)

B 5 Expl
(10)

b) Write a Note on following :
1. Implies Warranties under Sale of Goods Act

2. Doctrine of Caveat Emptor
(10)

Explain the concept of ‘Unpaid Seller” and the unpaid sellers right of *stoppege of goods
(10)

a) Explain the essentials of a negotiable instrument. (10)
b) Distinguish between Cheque and Bills of Exchange. (10)
¢) Discuss the essentials of cheques. (10
d) Write a note on following:- (10)
1. Holder in due course.
= Maturity of an Instrument.

10
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MARKS: 100 DURATION: 3Hrs.

Note:- 1.All questions are compulsory.
2. Figures to the right indicate full marks. gd\) 20' C|
Q.1.A) Fill in the blanks with most appropriate option.(any ten) 10
a) Sales promotionis advertising. (supports ,0pposes, proposes)
b) Creativity is the of adverting. (foundation, reference, standard)
¢) The customers of industrial goodsare ___ A fixed, limited, unlimited)
d) _agencyis maintained by large advertiser.
(full service, in-house, modular)

¢) Advertising agency is composed of people.
(freelance, creative, unskilled)

f) Dubbing is doneby ____ (layout artists,copy writers, sound recordists)
f) Healthy competition results in regular . (revenue, growth, supply)
g) Advertise must maintain ______ standards. ( quality, financial ,ethical)
i) ASClisa organization. (service, media, non profit )
j) Brand crisis is ___ development. (positive, negative, favourzble)

* k) Execution of advertisement in print media involves creative writing and

effective ; (illustration, copy, layout)
1) media attract highest advertising spends. (ditgital,print, online)

|

B State whether the following statements are true or false. (any ten) 10
a) IMC uses communication mix.

b) Advertising ensures survival of competitive marketing.

c) Public relation isa part of direct marketing.

5 d) Modular agencies perform comprehensive advertising jobs.

i s}Advmisingagencies are mostly compensated on commission method.
f) Freelancing is not secured profession.

g) Advertising discourages competition.

h) Children are soft target for advertising.

i) Social advertising raises consumer awareness.

j) Green advertising is eco-friendly advertising.

k) Brand equity is linked to brand association.
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TIME: 3 Hours

N.B: (1) All questions are compulsory

(2) Figures to the right indicate full marks [V\ Q 7 0l q

Q.1 (A) Select the most appropriate answer from the following (Any 10)

1) Balance Sheet is the statement of ST
n) Assets And Liabilities
b) Working Capital
¢) Operating Results
d) None of Above

2) Payback period is the time required to
a) Recover the original investment
b) Depreciate the asset
¢) Pay the ereditors
d) Recovery from debtors

e =

3) Goodwill is an ansset,
a) Fictitions
b) Tangible
¢) Intangible
d) Current

4) In common-size Income Statement analysis is taken as 100%.

a) Gross Sales

b) Net Profit

¢) Operating profit
d) None of the above

'5) Satisfactory level of current ratio is ;

a) 1:1
b) 2:1
¢) 31
d) None of above

6) Owners fund are equal to
a) Capital employed
b) Fixed assets + Investments + Working Capital
¢) Total assets — Current linbilities = Loan funds

d) None of above

7) Permanent working capital is also known as 4
a) Net working capital
b) Gross working capital
¢) Core working capital
d) Fixed working capital

8) The capital expenditure decisions are "
a) Reversible
b) Irreversible
¢) Reversible or irreversible
d) None of above

Marks: 100

10 Marks
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9) Comparative statement shows '
a) One year's performance
b) Financial performance
¢) Comparative performance
d) Profitability performance
10) are capital budgeting technigues.
a) Payback period
b) Accounting rate of return
¢) Net present value
d) All of above
11) Operating cost ratio is a Al
a) Balance sheet ratio
b) Revenue statement ratio
¢) Composite ratio
d) Profit & loss ratio
12) Following is not a quick liability
a) Uneclaimed dividends
b) Public deposits
¢) Bank overdraft
d) Advances

Q.2 (B) State whether the following statements are true or false (Any 10) 10 marks

1) Cash flow and accounting profit are different.

2; Owner’s fund and bnrroErd funds are two different constituents of total funds of a
company.

3) Net profit ratio is a measure of profitability.

4) Average stock is total of opening and closing stock.

5) Capital budgeting decisions are very easy to take.

6) Analysis is must for interpretation.

7) Net working capital can never be negative.

8) Bank overdraft = current liabilities — quick liabilities

9) Borrowed funds are external source of finance.

10) Management accounting provides information to investors about management.

11) Budget contains the plans of management.

12) Capital gearing ratio compares own funds with owed funds.

Q.2 (a) The following are the Balance Sheets of J. Ltd. as at March 31, 2017 and 2018.

Prepare a Comparative balance sheet. (10 marks)
Particulars T | Mareh 312017 March 31 2018 :
(Rs.) 1
I. Equity & Liabilities i
1. Shareholders’ Funds ‘ i
a) Share Capital 20,040,000 15,00,000 F
b) Reserve and surplus 3,00,000 4,00,000 |
2. Non-current Liabilities
Long-term borrrowings 9,00,000 6,00,000
3. Current liabilities
Creditors 3,00,000 s 2,00,000
Total 35,00,000 ZT;NM
II. Assests Flis b
1. Non-current assets
a) Fixed assets
- Tangible assets 20,00,000 15,00,000
= Ifllangiblc assets 9'00""]“ 6'nﬂ’w
2. Current assets
- Inventories : 3,00,000 4 00,000
. Cash and cash equivalents 300,000 200000
Total 35,00,000 Mﬂ
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Q.2 (b) From the following information, prepare a Common size Income Statement for the

year ended March 31, 2017 and 2018: 10 marks
‘ Particulars | 2016-17 2017-18
| ' Rs. Rs.

Net Sales 18,00,000 25,00,000

Costofgoods sold 10.00,000 12,00,000

Operating expenses 80,000 1,20,000

Non-operating expenses 12,000 ! 15,000

Depreciation 20,000 | 40,000

Wages 10,000 | 20,000

OR

Q.2 Complete the following Trend Statement offer suitable comments :

20 Marks
M/s, Swapna
Revenue Statement as at 31 March

Particulars | Amount Rs. Trend Percentage

12014 2015| 2016, 2017|2014 | 2015 | 2016 | 2017
Sales 2| 15,00,000 | 7122000000 7| 71 7| 220
Cost of Sales 500000 ?] 21 ? 7| 160 200 ?
Gross Profit ? 71 ? ? ] 7| 200 ?
Operating Exp 21 400000 7| 650000 7 21 7] 260
Operating Profit ? 71 6,00,000 | 5,50,000 ? ? ? ?
Non operating 10000 1 i ? 7| 250 500| 25
income 1
Non operating 21 ? ? ? 71250 7525
Exp
Profit Before Tax | 250000 1 P 2 ? ?| 240 ?
Tax 50% ? ? ? G 7 NN T
Profit After Tax 7 ?] BE: ¥ ? 0] 3

Note : Tax Provision on Profit Before Tax.
Q.3 The following Trading and Profit and Loss Account of Fantasy Ltd. for the year 31-3-

2019 is given below 20 marks
Particular Rs. Particular Rs.
To Opening Stock 76,250 | By Sales 5,00,000
. Purchases 3,15,250 | * Closing stock 98,500
* Carriage and Freight 2,000
* Wages 5,000
| = Gross Profitb/d |___2,00,000
Rl -
To Administration expenses 1,01,000 | By Gross Profit bfd 2,00,000
* Selling and Dist. expenses 12,000 | * Non-operating incomes:
* Non-operating expenses 2,000 | “iInterest on Securities 1,500
* Financial Expenses 7,000 | “Dividend on shares 3,750
Net Profit ¢/d 84,000 [ “Profit on sale of shares 750
2,06,000 2,06,000

- Calculate the following ratios after arranging the above details in vertical income statement

| 1.GrossProfitRatio 2. Expenses Ratio 3. Operating Ratio
| 4 NetProfitRatio 5.Stock Turnover Ratio.

; *..(c-f'i Pt page3|[5
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OR
(.3 Following is the summarized Balance Sheet of Mona Lid. as o 31-3-18. 20 Marks
s Particular Rs. particuiar L ¢
Eqmymirﬁnf Rs. 10 each 10% 10,00,000 Fieed AsS€ts :“nu:r
pref. Sh. of Rs.100 each Resarves 4,00,000 Invesonents 2,00,0m
and Surplus 7,00,000 | Closing Stock £.60,00¢
15% Debentures 5,00,000 | Sundry pebtos
Sundry Creditors 2,40,000 | Sills Receivable pongeoes
Bank Overdraft 1,60,000 | Cash at Bank ::
prefiminary r___'BH 0.0
30,00,000
Summarised Profit and Loss Account is as under for the year ending on 31-3-18:
Sales (25% Cash sales) $0,00.000
Less: Cost of goods sold 56,00,000
Gross Profit 24,00,000
Net profit (Before interest and tax 50%) 9,00,000 . 4
Calculate the following ratios:

(1) Rate on Return on Capital Employed (2) Proprietary Ratio (3) Debt-Equity
(4) Capital gearing Ratio (5) Debtors Ratio (365 days of the vear.)

(6) Rate of Return on Shareholders’ Funds  (7) Rate of Return on Equity sharcholders
fund

Q.4 Neilsen Incorporated is switching from Payback Period to Discounted Payback Period )
for small dollar projects. The eu!-o!l'perindwiilnmni:l at 3 years. Given the following four 1
projects cash flows and using a 10% discount rate, which projects that would have been
accepted under Payback Period will now be rejected under Di ted Payback Period?
Project Project

Cash Project One Project Three Four

Flows Two

Imitial cost  Rs.10,000 Rs.15,000 Rs.8,000 Rs.18,000

Year One Rs.4,000 Rs.7,000 Rs.3,000 Rs.10,000

Year Two Rs.4,000 Rs.5,500 Rs.3,500 Rs.11.000

Year Rs.4,000 Rs.4,000 Rs.4,000 Rs.0
Three
Calculate the Discounted Payback Periods of each project at 10% discount rate:
OR

Q.4 Radhika Manufacturing Limited presents the following information for 2016-17.
Estimated Yearly Production and Sales = 60,000 units
Estimated Cost Elements per unit.

e il lica A

Raw Materials Rs.5
Wages Rs.3
Overheads Rs.2
Selling Price Rs. 12
Further Information

1. The company extends two months eredit to the debtors.
2. The company maintains one month’s stock of Raw materials.
3, The company maintains one month’s stock of Finished goods.
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